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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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BRIASERRIERE160. 0 ml.

BfiE) | ESBIETK (D) | EME (EH/ER) | XK R

08:05 327 160.0 BE| {RRiZe08:05 BHzh (GRAEESE)
09:05 327 160.0 & =| 1Ri%@09:05 Bz (kAEREE)
10:10 327 160.0 (Z=| 1Ri%@10:10 Bzl (REERSE)
11:15 327 160.0 | =| BRige11:15 Bz (kAEREE)
12:15 327 160.0 (& =| 1Rige12:15 Bzh (GRBEREE)
13:10 327 160.0 (Z=| 1BRige13:10 Bzh (KEERESE)
14:05 327 160.0 [Z=| {Ri%e14:05 Bz (REAKERSE)
15:00 327 160.0 & =| 1Ri%e15:00 Bz (kAEREEE)
2it]2616.0 (8%) 1280.0 323 KEC: 2380.0, PH: 6.5

160.0), FIREKRREERE
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P6AW

WAFERERRA (0.95) , FHRE
TeREHLERE STAREART §11.0 :

BRIASERRIERE160. 0 ml.

BfiE) | GEBIETK (D) | EHE (EH/R) | XK ERF

07:55 320 160.0 (Z=| 1BRi&e07:55 Bzh (REERSE)
08:50 320 160.0 [Z=| {Ri%e08:50 Bz (FRAEESE)
10:00 320 160. 0 F BRi%e10:00 Bz (GRAERERE)
10:55 320 160.0 5| {Ri%@10:55 B3 (GRAERSE)
12:10 320 160.0 5| Rige12:10 Bz (REAERS)
13:00 320 160.0 =l RRi8013:00 Bz (RAEEE)
13:55 320 160.0 = {RRiB013:55 Bzt (REAEESE)
14:45 320 160.0 5| Rike14:45 Bz (GREAERS)
15:40 320 160.0 =l RRiB015:40 Bz (REAEEE)
21t 2880.0 (97%) 1440.0 323 KEC: 2460.0, PH: 6.5

160.0), FIREKRREERE




P6AW_W, Day=40 (2025-05-15)
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P6AW

BATHRERA (0.95) , iHiae
FREAVERS STMERR G110 -

BRIASERRIERE166. 0 ml.

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | XS R

12:40 333 160.0 FA| 1BRi%@12:40 B3h (RAERE)
13:30 333 160.0 | =| 1Ri%@13:30 Bz (kAEREE)
14:20 333 160.0 [Z=| {Ri&e14:20 B (REAERESE)
15:10 333 160.0 (& =| 1BRige15:10 Bzh (REEREE)
21t 1332.0 (4%) 640.0 3Z3KEC: 2464.0, PH: 6.5

166.0), FIREKRREERE




FRV (ml plant-1)

P6AW_W, Day=39 (2025-05-14)
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Warning: lcol ["WC1',  "WC2'] missing
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